Electrical Engineering

Practice exercises Solutions:

1. The voltage in a series circuit is 5 + 10i volts and the impedance is
1+2i ohms, what is the current?

V =5 + 10i volts
Z =1+ 2iohms
V=IxZ
|=V/7= (5+10i)

(L+2i)

| (5+101) (1-2i)
C(1+2i)  (1-2i)

I_(5—-10i+10i--20i2)
(1-2i +2i —4i%)

_ (5+20)
C(1+4)

25
| =— =5 amps
5 p

2. If the current in a series circuit is 9-4i amps and the impedance is
3+4i ohms, what is the voltage?
I - 4i amps
3 + 4i ohms
IxXZ
(9 - 4i) x (3 +4i)
(27 + 36i -12i — 16i%) = (27 + 24i + 16)
43 + 24i volts
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